JU-DEB FiE

2y hYF XB5=10R NP =6R DI=4x DE=21 AlF=0=
SPEED SSER MISA VFr—X Fzl)—X Rota A Rota B —#—= N v hE RA v bEK .
_ _ _ _ _ ™A ={iv
(BHER) (RBE) (BIR) (RJIE) (BHER) (BHER) (BHR) (BHIE) — =
5 % 5 ES
9 |15 17 | 16 11 15 15 | 12 9 |15 9 |15 15 | 12
SPEED 0.7500 0.9305
_ 9 |15 7 115 15 8 15 | 9 16 | 17 12 |15 15 8 28 5
(BHR)
0 2 6 10 0 0 10 6 8 174 187
2 N 15 | 9 15 | 10 5 9 15 | 12 10 | 15 15 | 10 15 | 12
~ 15| 9 17 | 16 15 | 12 15 |11 17 | 15 17 | 16 15 7 62 130000 12945 1
(REFR)
10 10 10 10 2 10 10 13 1 211 163
16 | 17 10 | 15 15 11 15 | 10 10 | 15 15 | 17 5 7
MISA 1.0000 1.0934
15 | 7 16 | 17 15 9 14 | 16 17 | 16 11 | 15 15 10 34 4
(B)IE)
6 0 10 6 2 0 10 7 7 199 182
4 . 15 | 11 9 | 15 11 | 15 10 | 15 12 |15 9 |15 15 13
UFvy—X 0.2727 0.7600
8 | 15 12 | 15 9 | 15 11 | 15 7 |15 9 |15 15 | 11 12 7
(BIR)
2 0 0 0 0 0 10 3 11 152 200
5 \ 12 | 15 12 | 15 10 | 15 15 10 8 |15 17 |15 14 16
Frl-—-X 0.7500 0.9227
_ 9 |15 11 | 15 16 | 14 15 11 10 | 15 15 | 11 15 | 12 28 6
(BHR)
0 0 2 10 0 10 6 6 8 179 194
6 15 9 15 | 10 15 | 10 15 | 12 15 | 8 15 | 10 5 7
Rota A 6.0000 1.3742
_ 17 | 16 15 | 17 16 | 17 5 7 15 | 10 15 | 11 15 | 11 62 2
(fBH2)
10 6 6 10 10 10 10 12 2 213 155
7 15| 9 10 | 15 17 | 15 15 9 15 | 17 10 | 15 5 9
Rota B 1.3333 1.0769
_ 15 | 12 16 | 17 15 | 11 15 9 11 | 15 11 | 15 16 | 14 40 3
(BHR)
10 0 10 10 0 0 10 8 6 196 182
8 12 | 15 12 | 15 7 15 13 15 16 | 14 7 |15 9 | 15
—H—% 0.0769 0.7095
- 8 | 15 7 |15 10 | 15 11 15 12 | 15 11 | 15 14 | 16 2 8
(BHIR)
0 0 0 0 2 0 0 1 13 149 210




JU—-pEF hrgY-J

2 Y hIYF XB5=10m DIBE=6m AF=4m NIE=2" &I}=0m
e Rota A Rota B MISA SPEED FrU—2 UFr—2 —#—% ot £y k& FA v b= Bt
e ML
(R&E) (BHE) (BHE) (BN (BHE) (BHE) (BINE) (BHE) — —
EE 5 | %
B 11 |15 15 |11 15 | 11 15 | 10 15 |11 13 | 15
e 2.0000 1.1208
(mm®) 12 |15 11 | 15 15 | 13 15 | 13 15 | 11 15| 9 40 4
- 0 4 10 10 10 8 | 4 167 | 149
15 | 13 16 | 17 15| 9 16 | 14 15 | 13 15| 8
Rota A 11.0000 1.2778
() 15 | 13 15 |11 15 | 10 15| 9 15 | 11 17 | 16 56 1
e 10 6 10 10 10 0 11 | 1 184 | 144
15 | 11 13 | 15 15| 9 12 | 15 15 | 7 15 | 11
Rota B 15 | 12 13 | 15 15 | 10 15 | 10 15 | 6 15| 9 46 30000 1.3308 3
TBHE)
i 10 10 6 10 9 | 3 173 | 130
11 | 15 17 | 16 15 | 10 15 | 12 15| 9 15| 7
MISA 5.0000 1.2794
15 | 11 11 | 15 15 | 10 15 | 10 15 | 12 15 | 9 46 2
(\E)
4 10 10 10 10 | 2 174 | 136
11 | 15 9 | 15 9 | 15 10 | 15 16 | 17 15| 9
SPEED 0.3333 0.8614
G 13 | 15 10 | 15 10 | 15 10 | 15 15 ] 9 15 | 11 16 5
mr 0 0 0 6 0 3 | 9 143 | 166
] 10 | 15 14 | 16 15 | 12 12 | 15 16 | 14 16 | 14
Fr—x 0.5000 0.8736
() 13 | 15 9 | 15 10 | 15 10 | 15 15 | 13 12 |15 14 6
B 0 2 0 10 4 | 8 152 | 174
i 11 | 15 13 | 15 7 |15 9 | 15 17 | 16 14 | 16
JFr—X 0.0909 0.7308
B 11 | 15 11 | 15 6 | 15 12 | 15 9 | 15 13 ] 15 2 8
- 0 0 0 2 0 1 | 11 133 | 182
15 | 13 8 | 15 11 | 15 15 9 | 15 14 | 16
—H—= 0.2000 0.7472
() 9 | 15 16 | 17 9 | 15 9 | 15 11 | 15 15 | 12 8 7
AR
2 0 0 0 6 2 | 10 133 | 178
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1HE#ER 2HBE®ER EEHER
ty hE HA 2 hE ty % R hE Ty hE HA b E
RA >k J[=tiva KAV b JERL RA >k [l J[=tiva [[=Civa F—L%
/| = B | = /| = B | = CEE: /] =
1
2 . . . . . . ota
= 13.0000 1.2945 2.0000 1.1208 4.2000 1.2115 Rota A
62 1 40 4 102 2.0202 2 1 -
(RHR) (BHR)
13 | 1 211 | 163 8 | 4 167 | 149 21 \ 5 378 | 312
2
Rota A 6.0000 1.3742 11.0000 1.2778 7.6667 1.3278 ES
b 62 2 56 1 118 1.0101 1 2
(BHE) (RHR)
2 | 2 213 | 155 un |1 184 | 144 23 | 3 397 | 299
3
ota g d d . . . ota
Rota B 1.3333 1.0769 3.0000 1.3308 1.8889 1.1827 Rota B
b 40 3 46 3 86 3.0303 3 3 -
(BHE) (fBFHR)
8 | s 196 | 182 9 | 3 173 | 130 EE 369 | 312
4
MISA 1.0000 1.0934 5.0000 1.2794 1.8889 1.1730 MISA
34 4 46 2 80 4.0304 4 4
(BNIR) (BIR)
7 [ 7 199 | 182 I 174 | 136 T 373 | 318
5
SPEED 0.7500 0.9305 0.3333 0.8614 0.5294 0.8980 SPEED
_ 28 5 16 5 44 5.0606 5 5 i
(fBH12) (BHE)
6 [ 8 174 | 187 3 | 9 143 | 166 9 | 17 317 | 383
6
) —X . . b d . . Fxrl)—X
Fry—3x 0.7500 0.9227 0.5000 0.8736 0.6250 0.8995 Fry—2
_ 28 6 14 6 42 6.0505 6 6 i
(fBH12) (BHE)
6 | 8 179 | 194 4 | 8 152 | 174 10 | 16 331 | 368
7
YFy—2 0.2727 0.7600 0.0909 0.7308 0.1818 0.7461 YFr—X
12 7 2 8 14 7.0707 7 7
(BI8) (BNE)
3 | 1 152 | 200 1 [ n 133 | 182 4 | 2 285 | 382
8
—f—2 0.0769 0.7095 0.2000 0.7472 0.1304 0.7268 —f—%
2 8 8 7 10 8.0808 8 8
[C=Fal=y) (BHE)
EE 149 [ 210 2 | 10 133 | 178 3 | 23 282 | 388
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1
Rota A (f8HE)

3
Rota B (f&F8)

5
SPEED (f8H=8)
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UFr—X (BIE)

N N N N
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15
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15
15
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8
13

2
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16
9

4
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